
Q. If limr-+oo az -b =4, then- 
(A) a -1, b =4 (B) a 1, b =-4] (C) a = 2, b= 

-3 (D) a = 2, b = 3 JEE 2012, 3M, -1M] 



Sol. (B) 

x+l-ax-b=4 lim 
X X+1 

1-a)x+ x(1-a-b)+1-b 4 lim 
x+1 

(1-a).x+1-a-b+| ). lim 4 

1+ 
X 

for limit to exist finitely 
1-a = 0 and 1 - a - b = 4 

a= 1and b = -4 



Q. Let f(x) = Lcos () for x 1. 

Then 
(A) lim,+ f(x) does inot exist 
(C) lim, f(x) = 0 

(B) lim,,- f(x) does not exist 
(D) lim, f(x) = 0 
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Sol. (A,C) 

(1-x) cos 
1-x 

x<l 
f(x) =. 

|-1+x)cos x>1 
1-x 

lim f(x) =d.n.e, lim f(x) = 0 
x1* x1 


